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QUESTION 1

A customer has several servers that use local physical storage and needs to design a solution to aggregate the storage
into a single logical pool. The customer also needs to reduce complexity without investing in physical hardware. What
should the customer include in the solution? 

A. HP Matrix Storage Provisioning Manager 

B. HP 3PAR StoreServ VSA 

C. HP Virtual Connect Enterprise Manager 

D. HP StoreVirtual VSA 

Correct Answer: D 

Combine the power of HP StoreVirtual VSA with Microsoft or VMware virtualization and get much more out of your
virtualized environment. Turn a set of heterogeneous and disconnected physical disk drives in your servers and storage
devices into a single pool of logical storage capacity. 

Incorrect: 

Not C: HP Virtual Connect Enterprise Manager (VCEM) centralizes connection management and workload mobility for
HP BladeSystem servers that use Virtual Connect to access LANs, SANs and converged network infrastructures.
VCEM 

helps organizations increase productivity, respond faster to workload and configuration changes, and reduce operating
costs. 

 

QUESTION 2

A customer plans to migrate data from a third-party storage system to an HP StoreVirtual 4330FC Storage System. The
new storage system must contain 7.2 TB of usable space after network RAID 10 and hardware RAID 10 are configured. 

How many nodes does the customer need? 

A. Three 

B. Four 

C. Six 

D. Eight 

Correct Answer: B 

Note: 

*

 In RAID 10, often referred to as RAID 1+0 (mirroring and striping), data is written in stripes across primary disks that
have been mirrored to the secondary disks. 
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*

 RAID 10: Mirroring without parity, and block-level striping 

*

 RAID 1+0: (a.k.a. RAID 10) mirrored sets in a striped set (minimum four drives; even number of drives) provides fault
tolerance and improved performance but increases complexity. 

*

 By its definition, a Network RAID 10 volume consumes capacity at twice the rate of a Network RAID 0 volume. 

 

QUESTION 3

A customer is planning to migrate from an HP EVA to an HP 3PAR StoreServ 7000 Storage System The customer uses
disk groups on the EVA for fine-grained database management. 

What can the customer use to achieve fine-grained database management on the HP 3PAR StoreServ 7000? 

A. logical volumes 

B. common provisioning groups 

C. disk groups 

D. virtual volumes 

Correct Answer: B 

Terminology comparison between EVA and HP 3PAR StoreServ EVA P6000: Disk Group HP 3PAR StoreServ:
Common Provisioning Group (CPG) 

 

QUESTION 4

What are the benefits of migrating to an HP 3PAR StoreServ 7000? 

A. Virtualization of homogenous storage devices 

B. increased efficiency through reduced capacity requirements 

C. multi-tier storage availability in hyperscale enterprise platform 

D. federated non-disruptive data mobility between third-party systems 

Correct Answer: C 

 

QUESTION 5

A customer plans to migrate data from an HP EVA8400 Storage System to two HP 3PAR StoreServ 7400 Storage
Systems. The new storage systems must be configured to support connection redundancy. How many Service
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Processors 

must the customer deploy to support the solution? 

A. One 

B. Two 

C. Three 

D. Four 

Correct Answer: A 
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